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Topic:- Child Development & Pedagogy (CDP)

/ Tt AT qrHTG: $o raTe? awd g1 § o9 forar ST 81

1) All learning is by-and-large successful when it is

1. Resource rich / ST HUA

2. Self-directed by the learners /ﬁT&l’m gRI W-ﬁaﬁ]’a
3. Technology led / W Cal ﬁaﬁ

4. Teacher led / TRI&(® &1 ﬁ—tla

Correct Answer :-

o Self-directed by the learners / fRrenfiat gRT w-FERE

2) Which of the following is the technique of classroom management where a student displaying negative behavior is separated from the rest of the class? /

B J PH-M B yeUd F o § gt TPRIAS TR USRIT B 16 Th ST AT BT I 3T g1 SIrelm 32
1. Satiation technique / ¥ T
2. Extinction technique / AR dh1dH
3. Corporal punishment / RIRTN® &8
4. Time out technique / THT JHT APH1H

Correct Answer :-

« Time out technique / JHY FHILT GCRicd

3) Which of the following is not true about the demonstration method of teaching? / fafafaad a P fRremor ¥ Siftraafaa faftr & ek o I EHi
??

1. The focus is on the demonstration of concepts through experiments/activities / WW&WWWWWWW%I
2. It can be used for a multicultural classroom /Wmﬂ@@mﬁﬁ%mmmm%l

3. The learners gets an opportunity to participate /ﬁ[&mﬁmﬁﬁ@ G{Wﬁlﬂ?ﬂ%l

4. All the topics can be covered by this method /wﬁmmﬂﬁﬁuﬁaﬁwmwwél

Correct Answer :-

« All the topics can be covered by this method /sﬂﬁfﬁmmﬁmﬁwmww%l

4) A 20 year old girl’s mental age is 12 years. Find her 1Q. / Ut 20 HTd ®| AS®] B! AHNS 39 12 I 21 3Tt g@ﬂ%{ IGEainyl
1. 100

2.125

3. 60

4. 65

Correct Answer :-

e 60

5) The father of Intelligence tests is ./ g@ T\&&Wﬁ & TP %.I
1. Francis Galton / THIRI Meed



2. James Cattell /@WHW
3. Alfred Binet / 3/&%h 8 fa
4. Karl Pearson / Tl TURIA

Correct Answer :-

« Alfred Binet / 3ps foa

6) GDD is a developmental disability recognized in children who are ___. / Siiele] o faery aeh sramar g st @ & fedt 21
1. below 5 yrs./ 5 T T BIC eat A

2. age 12-14 yrs./ 12-14 TS & MG A

3. above 5 yrs. /5 T U 3ifEp & ==t A

4. above 18 yrs./ 18 T8 ¥ HW

Correct Answer :-

. belowSyrs./Sa'Gfa@ﬁ%aﬁﬁﬁ

7) If the chronological age and the mental age of the child is 15 years. He will be classified into which category? /R T=R B Wﬁ-ﬁ? 3y 3R
AR Mg 15 99 B @ 3 o Aoft & afiepa fvar wmewme

1. Superior / 3=
2. Normal intelligence / |HIRI Tgﬁ
3. Genius / TfaHT=ITd

4. Below normal intelligence / TH- §'@ SEiC]

Correct Answer :-

« Normal intelligence / Wﬁ@

8) According to Jean Piaget, cognitive development startsat _______ stage / oI =t & SR, HAATHS fosm ORI ?ﬁﬂ %I
1. Concrete Operational / %—W

2. Preoperational /ugq‘-ﬂ'ﬁo‘qm

3. Formal Operational / W TfharHs

4. Sensorimotor / m ﬁ?ﬂu (@Wﬁ)

Correct Answer :-

« Sensorimotor / Tad! U=ty (@Wﬁ)

9) According to Jean Piaget, preoperational children are/ S foast & YR, ﬁ-m AT H T HA g %:?
1. Egocentric/ STHG IS @ﬁ@@@

2. Flexible/ T8 (FAfdTEa)

3. Complex/ Sfed

4. Social / ARG

Correct Answer :-

« Egocentric/ KA Ea G @ﬂ@%

10) What concept takes into account an individual’s mental and chronological ages? /

et sufa &Y Al ok STaTIw e Mg HIH- SaURT & | 3T 82
1. Cognitive quotient / GITHIHD HRTH



2. Intelligence quotient /W

3. Intellectual quotient / Ffg® YRTHS
4. Functionality quotient / BRTHEBA HRTHT

Correct Answer :-

« Intelligence quotient /m

11) What is the term used to denote an unfavorable attitude towards members of a particular ethnic or religious group? / o<t fardiy st o enfife a9z F

e & ufa wfagea 790 9 g & g few wreg &1y fear srar 82
1. Prejudice / G&OTd

2. Racism / T4

3. Enmity / QAT

4. Fanaticism / P &Xdl

Correct Answer :-

« Prejudice / U&UTd

12) What type of memory may be involved in carrying out complex mathematical problems? s ifea i THwrse ot T 1 # 5T ueR ot '\qiﬁf
e 8t gadl 72

1. Iconic memory/?lﬁ“—ﬂ TR Fﬂﬁ (\Hﬁﬁﬁ—cﬁ m
2. Echoic memory / yfdeaf F:jﬁ (Q?ﬁ% m

3. Working memory / I ﬂﬁf (W m
4. Sensory memory / g i IGRREEIRY

Correct Answer :-

« Working memory / I Wﬁ[ (m m

13) In which stage of Piaget’s theory of cognitive development do children develop the concept of conservation? e ckd IIFATHD e s Rrgia * P
o & =t & wRe a1 R R giar 22

1. Concrete operational stage / @W HAR[T

2. Post-formal stage / URe- 3R Sfawl

3. Pre-operational stage / @—W SIARIT

4. Formal operational stage / = Tfharedes s/

Correct Answer :-

« Concrete operational stage /H\—CT Tfrard® gl

14) Thorndike’s Law of Readiness is also known as: / m & daRar & fAaw ot I J ot ST STar %:
1. Law of Exercise / 331 &1 g9

2. Law of Effect / WHTd &1 499

3. Law of Action Tendency / o] Equ%f o1 g

4. Law of Set or Attitude / € T TF‘hﬁﬁT &1 g

Correct Answer :-

« Law of Action Tendency / Eb‘l'!fl;lqﬁ{ CalepE

15) Which of these includes unhappiness when defining abnormality? / SITHT=IT & ufruTfia #a wTg 37'“} 3 frad =|T§5Zﬁ i @2

1. Danger to self/others/ E'CT/&FCI * 1%-111 HTdh



2. Deviance/ fa=r@m
3. Dysfunction / fawR
4. Distress/ Tﬁ@T

Correct Answer :-

o Distress/ tﬂGT

16) Which of the following is not an individual difference that affects learning? /

Frafafea & & S=-a1 te afermd siar 781 8 St oftnm &1 g vifaa svar 32
1. Gender / feiTT

2. Height/ S8

3. Socioeconomic status / FTHTRT- 31T fRufa

4. Caste / STl

Correct Answer :-

« Height/ WTSC

17) Which of the following is not a part of working memory? / FTHfRIRET # @ #19 Frizha Wiv &1 = T8 22
1. Central executive / B PRABR] (Hgel ToHIT(ed)

2. Phonological loop / TaR-faqTH Haieht Ur=T (BHT@ISIG S )

3. Episodic buffer / TS ® T

4. Sensory register / A IOREX

Correct Answer :-

« Sensory register/ﬂ.a—cﬂ IR

18) A child-friendly learning environment shall have / Th TNSE ﬁ'ﬂ! 3qpd STy araraRur § fe ?lTlT:
1. Learner discipline / Rremeff SR

2. Learner autonomy / F7&fT off & T

3. Linear exposure / Qe 3FTER

4. Teacher authority / T8 @1 SUHR

Correct Answer :-

o Learner autonomy / ﬁT&IT?-ﬁaﬁ ™Al

19) Castration anxiety occurs in which stage of psychosexual development? /ﬂﬁﬁﬂ? faTa &1 H19 At a1 H e fKiar (mﬂ Qﬁﬂgﬁ) gt
®

1. Anal / T[&T (Td)

2. Oral / AN (3R

3. Latency / Y@ (AT
4. Phallic / A (B foTP)

Correct Answer :-

« Phallic / 1o (Sferem)

20) Rehearsing for later relationships is called

/91 & fexal & fore yat s we1 wrar 8:

1. Developmental Socialization / EERIRAEA IR




2. Secondary Socialization/ W GHTSHHRO]
3. Primary Socialization/ TS TS R0T

4. Anticipatory Socialization/ YHIRITHD TSR]

Correct Answer :-

 Anticipatory Socialization/ YIIRITHD HHI EiCR

21) children from disadvantaged groups are less likely to have good nutrition, access to good health care, and opportunities to

_/dfua gl & g @) st Ui, IS WA WU dP UG 3R & 3(aWR] 3t U HH gl 21
1. Play / @e

2. Learn / TG

3. Study / &g

4. Enjoy / 3G

Correct Answer :-

e Learn /?ﬁ@ﬁ

22) CANCELLED

“Individuals are born without built-in mental content, and therefore all knowledge comes from experience or perception.” This notion is referred to as
. 1 “ufe fae fpaft srafsifea aFRie uewur & e §ia €, 3iv swfere weft I Srgva a1 YRum | 3iTd §1” 39 YR &1 F
*u ¥ Weffa fear smar 31

1. Tabula nota / HIF[H et (ddelt :h?_‘T)

2. Tabula rasa / HI[H TRt (GESIRIRD)
3. Tabula primus / HI[H gfga (GESIEIERR))
4. Tabula novus / HIH g (dder #l?ﬁ)

Correct Answer :-

« Tabula rasa / ARIH T:RUfT (e ¥=m)

23) CANCELLED

Benchmark assessment is also known as: / STTHTD BT DY gg ot ‘el SIidl %:
1. Summative Assessment / TRTIGIEH BT

2. Diagnostic Assessment / TGHTE® ST

3. Interim Assessment / SIARH THAT

4. Formative Assessment / AU T

Correct Answer :-

« Tnterim Assessment / STRH STHTT

24) CANCELLED

In big 5 model, personality types are distinguished based on /H%' 5 Hisd ﬁ, HfRTd S UPR F ATYR W fafre ﬁ‘TQ' EiGH %:l
1. Culture personality/ W Hfada

2. Personality traits / HfdmTd ﬁ'&r@?ﬂ

3. Emotional intelligence / HIgPh HfGgHar

4. Season based/ T TR

Correct Answer :-

« Personality traits / EHESH] m?ﬂ'



25) CANCELLED

In Erikson’s theory, the aspects individuals generally focus on developing during adolescence and then during young adulthood is called /Qﬂﬂq a‘T

ﬁl@igﬁ,wugqsﬁaﬁmwﬁ?@wn%wmamﬁwm%ﬁaﬁvmm%sﬁ?fwwm%m Fgl
ST 81

1. identity, basic trust/ U8 I, Hcl ﬁ%m
2. identity, intimacy / Ug2TH, Tl
3. intimacy, identity / 3/dRITdT, UgdH

4. basic trust, identity/ &l ﬁ%ﬂﬂ, Tegdd
Correct Answer :-

« identity, intimacy / UgdI, STt
26) CANCELLED

According to Piaget when an infant reaches about 7-9 months of age they begin to develop what he called Micickg SR, oid Uh ﬁn{[ STHIT 7-9

e 31 ST dH Ugaal o, A I RpRagR T e PRSTN___ @ei3l
1. Egocentrism/ ST od

2. Personal fable/ TG Hfcud

3. Object permanence/ I¥g R Dot

4. Inductive reasoning/ TTAATHS B

Correct Answer :-
« Object permanence/ %] R IDore]
27) CANCELLED

The condition wherein an individual loses awareness and flees his own identity is known as ./ 9% faafa ﬁm’ﬁ aﬁ‘é HfeR SIRRSPdT @ a_cIT %
3R S T B UgA B SIS AT §, F ¥ | ST o 81

1. Shock / 3TdTd
2. Repression / GHT

3. Trauma / ff¥rara
4. Fugues / /[T

Correct Answer :-
« Fugues / T
28) CANCELLED

The way a person presents any information in his/her brain is an example of his/her. / fore GRE I aﬁ’é iR 3= AfGTsS & fHft W ST &1
TG BT 8, Ug ST (=1 BT ISTeI0T @

1. Personal characteristics /m 3frceror
2. Cognitive characteristics VARG ED Sffaemr
3. Emotional characteristics / 'J-ﬂa'qpf 3ifayereror
4. Academic characteristics /ﬁT&‘rUT Giﬁ-lﬁw

Correct Answer :-

« Cognitive characteristics E:RIED 3ffyereror

29) A teacher can replace the term 'Failure' in his/her feedback with / U fR1&/ SOt ufafsrar & | "SRG aar Weg Y Ul &= W 8-
1. lack of intelligence /g@ B HH



2. Incompetency / ST
3. learning disability ST 3ferFar
4. emerging in learning / ST & IHRAT

Correct Answer :-

o emerging in learning / ST & IHRAT

30) One student is not able to learn in the class as his/her pet is not well. Most likely factor affecting learning is -/ T BT BE&T i q'Eﬂ'\'ﬂE LIK] %

Fifr IT®T urerq U] S 1LY B 1 ST &Y wunfad w5 aren Gad Hyifdd RS §:
1. lack exercise/ S{¥ITH B HH

2. adverse emotional condition/ TG U fUFT

3. lack of sleep/ TG P HHT

4. lack of nutrition/ UTSUT &1 ST

Correct Answer :-

« adverse emotional condition/ ¥ é@a YigTHs fufa

Topic:- General English(L1GE)

1) Fillin the blank with the correct option in the given sentence:

The branch of physics that deals with living organisms is called --physics.
1. meta --

2. bi--

3. bio --

4. geo --

Correct Answer :-

2) Fillin the blank with the correct option in the given sentence:

The company responded decis-- by sending the work overseas.

1. --ion
2. —ive
3. —-ively
4. --ous

Correct Answer :-
o —ively
3) Read the passage carefully and answer the question given below:

“The Brooklyn Bridge” when it was completed in 1883, it was hailed as the eighth wonder of the world. The Brooklyn Bridge was the first bridge to be electrically lighted and the longest suspension bridge in its
day. It was built to link New York's Manhattan district and Brooklyn District across the East River. Designed by a German immigrant engi called John Roebling, it took 14 years to finish, at a cost of $ 15

8:

million and 20 lives, including Roebling's own fortune. The bridge deck measures 478.5 m across between towers that rise 82.8 m above the river. Side spans, 279 m long, connect the towers to the shore on either
side. The Brooklyn Bridge originally had carriageways, cable railway tracks and an elevated walkway. Today, there are six lanes for traffic on its 39 m wide deck with a million cars crossing daily. The cable railway
tracks were removed in 1944, but New Yorkers still stroll, bike or jog along the walkway, which was restored in 1982.

Which is hailed as the world's eighth wonder?
1. The Howrah Bridge

2. The Suez Canal

3. The Brooklyn Bridge

4. The Taj Mahal



Correct Answer :-

® The Brooklyn Bridge

4) Read the passage carefully and answer the question given below:

“The Brooklyn Bridge” when it was completed in 1883, it was hailed as the eighth wonder of the world. The Brooklyn Bridge was the first bridge to be electrically lighted and the longest suspension bridge in its
day. It was built to link New York's Manhattan district and Brooklyn District across the East River.

Designed by a German immigrant i called John Roebling, it took 14 years to finish, at a cost of $ 15 million and 20 lives, including Roebling's own fortune. The bridge deck measures 478.5 m across between
towers that rise 82.8 m above the river. Side spans, 279 m long, connect the towers to the shore on either side. The Brooklyn Bridge originally had carriageways, cable railway tracks and an elevated walkway.
Today, there are six lanes for traffic on its 39 m wide deck with a million cars crossing daily. The cable railway tracks were removed in 1944, but New Yorkers still stroll, bike or jog along the walkway, which was
restored in 1982.

‘Which river does the Brooklyn Bridge stretch across?
1. Missouri

2. Mississippi

3. East River

4. Ohio

Correct Answer :-
e East River

5) Read the passage carefully and answer the question given below:

“The Brooklyn Bridge” when it was completed in 1883, it was hailed as the eighth wonder of the world. The Brooklyn Bridge was the first bridge to be electrically lighted and the longest suspension bridge in its
day. It was built to link New York's Manhattan district and Brooklyn District across the East River.

Designed by a German immigrant engineer called John Roebling, it took 14 years to finish, at a cost of $ 15 million and 20 lives, including Roebling's own fortune. The bridge deck measures 478.5 m across between
towers that rise 82.8 m above the river. Side spans, 279 m long, connect the towers to the shore on either side. The Brooklyn Bridge originally had carriageways, cable railway tracks and an elevated walkway.
Today, there are six lanes for traffic on its 39 m wide deck with a million cars crossing daily. The cable railway tracks were removed in 1944, but New Yorkers still stroll, bike or jog along the walkway, which was
restored in 1982.

‘When was the walkway restored?
1. 1972
2. 1962
3. 1982

4. 1952

Correct Answer :-

6) Read the passage carefully and answer the question given below:

“The Brooklyn Bridge” when it was completed in 1883, it was hailed as the eighth wonder of the world. The Brooklyn Bridge was the first bridge to be electrically lighted and the longest suspension bridge in its
day. It was built to link New York's Manhattan district and Brooklyn District across the East River.

Designed by a German immigrant i called John Roebling, it took 14 years to finish, at a cost of $ 15 million and 20 lives, including Roebling's own fortune. The bridge deck measures 478.5 m across between
towers that rise 82.8 m above the river. Side spans, 279 m long, connect the towers to the shore on either side. The Brooklyn Bridge originally had carriageways, cable railway tracks and an elevated walkway.
Today, there are six lanes for traffic on its 39 m wide deck with a million cars crossing daily. The cable railway tracks were removed in 1944, but New Yorkers still stroll, bike or jog along the walkway, which was
restored in 1982.

How many years did it take to build the Brooklyn Bridge?

1. 14

Correct Answer :-



7) Read the passage carefully and answer the question given below:

Some people may have extra bones. There are 209 bones in the human body. Some people, however, have a few bones more while, some others have a few bones less! The commonest extra bones are those which
grow inside certain muscle tendons. These bones lead completely independent lives, unattached to other bones. These bones are called id bones. Extra id bones may grow, for example, in the tendons

under the big toe. Some sesamoid bones, however, grows in everybody. One such bone, called the pisiform bone, lies in front of the wrist. The largest sesamoid bone in the body is the patella. The patella is the
circular bone in front of the knee; it is also known as the kneecap. Extra bones may grow elsewhere, too. A few persons may have an extra pair of ribs, either above or below the usual 12 pairs of ribs. These extra
ribs may cause problems to health. For example, extra ribs growing in the neck can compress important arteries that supply to the upper limbs.

Which is the largest sesamoid bone in the human body?
1. Clavicle

2. Patella

3. Skull

4. Thigh

Correct Answer :-

® Patella

8) Read the passage carefully and answer the question given below:

Some people may have extra bones. There are 209 bones in the human body. Some people, however, have a few bones more while, some others have a few bones less! The commonest extra bones are those which
grow inside certain muscle tendons. These bones lead completely independent lives, unattached to other bones. These bones are called id bones. Extra id bones may grow, for example, in the tendons

under the big toe. Some sesamoid bones, however, grows in everybody. One such bone, called the pisiform bone, lies in front of the wrist. The largest sesamoid bone in the body is the patella. The patella is the
circular bone in front of the knee; it is also known as the kneecap. Extra bones may grow elsewhere, too. A few persons may have an extra pair of ribs, either above or below the usual 12 pairs of ribs. These extra
ribs may cause problems to health. For example, extra ribs growing in the neck can compress important arteries that supply to the upper limbs.

Where is the pisiform bone found?

1. In front of the wrist

2. Ankle

3. Ribs

4. Thigh

Correct Answer :-

e In front of the wrist

9) Which one of the following is the correct reported speech of the given sentence?
The boss said to the peon, "Bring the file.”

1. The boss was ordering the peon to bring the file.
2. The boss asked the peon, bring the file.

3. The boss ordered the peon to bring the file.

4. The boss told the peon for bringing file.
Correct Answer :-

« The boss ordered the peon to bring the file.

10) Read the passage carefully and answer the question given below:

Some people may have extra bones. There are 209 bones in the human body. Some people, however, have a few bones more while, some others have a few
bones less! The commonest extra bones are those which grow inside certain muscle tendons. These bones lead completely independent lives, unattached to
other bones. These bones are called sesamoid bones. Extra sesamoid bones may grow, for example, in the tendons under the big toe. Some sesamoid bones,



however, grows in everybody. One such bone, called the pisiform bone, lies in front of the wrist. The largest sesamoid bone in the body is the patella. The
patella is the circular bone in front of the knee; it is also known as the kneecap. Extra bones may grow elsewhere, too. A few persons may have an extra pair
of ribs, either above or below the usual 12 pairs of ribs. These extra ribs may cause problems to health. For example, extra ribs growing in the neck can
compress important arteries that supply to the upper limbs.

Where is the Patella situated?
1. In front of the knee

2. In the wrist

3. In the ankle

4. On the shoulder

Correct Answer :-

* In front of the knee

11) Read the passage carefully and answer the question given below:

Some people may have extra bones. There are 209 bones in the human body. Some people, however, have a few bones more while, some others have a few
bones less! The commonest extra bones are those which grow inside certain muscle tendons. These bones lead completely independent lives, unattached to
other bones. These bones are called sesamoid bones. Extra sesamoid bones may grow, for example, in the tendons under the big toe. Some sesamoid bones,
however, grows in everybody. One such bone, called the pisiform bone, lies in front of the wrist. The largest sesamoid bone in the body is the patella. The
patella is the circular bone in front of the knee; it is also known as the kneecap. Extra bones may grow elsewhere, too. A few persons may have an extra pair
of ribs, either above or below the usual 12 pairs of ribs. These extra ribs may cause problems to health. For example, extra ribs growing in the neck can
compress important arteries that supply to the upper limbs.

How many bones does a human being have on an average?
1. 209

2. 203

3. 506

4. 200

Correct Answer :-

. 209

12) Which of the following options best combines the given sentences?

It is not a good thing. Don’t feed the animals in a zoo.

1. Itis not a good thing in a zoo, so don’t feed the animals.

2. Itis not a good thing to feed the animals in a zoo.

3. Don’t feed the animals in a zoo because it is not a good thing.

4. In a zoo, it is not a good thing for feeding the animals.

Correct Answer :-

« Itis not a good thing to feed the animals in a zoo.

13) Choose appropriate articles for the given sentence:
___ stress of city life has effects on ____intellect.

1. The ... no article required

2. The ... the

3. No article required ... no article required

4. No article required ... an

Correct Answer :-

e The.. the



14) Choose appropriate article for the given sentence:

She was faced with ___ unusual problem which could not be solved easily.
1. an

2. the

3.a

4. no article

Correct Answer :-

15) Choose the appropriate option that rewrites the given sentence in its passive voice.
The intense heat caused great friction.

1. Great friction caused by the intense heat.

2. Great friction was causing the intense heat.

3. Great friction was caused by the intense heat.

4. Great friction had caused by intense heat.

Correct Answer :-
« Great friction was caused by the intense heat.

16) Choose the appropriate synonym for the highlighted word in the given sentence.

I will have to find a way to adapt myself to the new requirements.
1. surrender

2. accommodate

3. replace

4. match

Correct Answer :-
« accommodate

17) Choose the appropriate antonym for the highlighted word in the given sentence.

There are approximately 80 million people living in France.
1. precisely

2. roughly

3. under

4. over

Correct Answer :-

« precisely

18) Choose the appropriate conjunctions for the given sentence.

I am still confused to run for the 100 meter’s the relay.
1. whether... or

2. as...as

3. either... or



4. if... then

Correct Answer :-

« whether... or

19) Choose the appropriate determiner for the given sentence:

Although a wide variety of drugs are available to ease pain, people still fear taking them.
1. many

2. none

3. every

4. few

Correct Answer :-

20) Choose the appropriate prepositions for the given sentence:

Looking ____ the forecasts ____the world’s energy demands ____ the future is pretty frightening.
1. beyond ... through ...in

2. at ... for ... for

3. at..in ... with

4.on..at..on

Correct Answer :-

21) Choose an appropriate modal for the given sentence:

He swim in any river as he is very capable.
1. should

2. may

3. must

4. can

Correct Answer :-

22) Choose the option that best explains the highlighted expression:
Kumar opened his heart to me.

1. shared his deepest feelings

2. abused me

3. showed his scars after a heart surgery

4. revealed his heart

Correct Answer :-

« shared his deepest feelings

23) Choose the most suitable pronoun for the given sentence:
This book is better than cover would suggest.

1. their



2. mine
3. your

4. its

Correct Answer :-

24) Read the sentence carefully and choose the option that has an error in it:

He gone to the conference to learn about government contracts.
1. to learn about

2. to the conference

3. government contracts.

4. He gone

Correct Answer :-

25) Choose the appropriate tenses to fill in the blanks in the given sentence:

Keval in this office for the last five years and a sincere worker.
1. has worked... is

2. has been working... is

3. working... is

4. worked... is

Correct Answer :-

* has been working... is

26) Choose the appropriate tense to fill in the blank in the given sentence:

Rashmi is a violinist. She often at concerts.

1. is playing

2. will play

3. played

4. plays

Correct Answer :-

« plays

27) Rewrite the following changing the passive sentence to active.

Every disaster affected victim has been compensated by the Kerala government.
1. The Kerala government has compensated every disaster affected victim.

2. The Kerala government have been compensating every disaster affected victim.
3. The Kerala government has been compensating every disaster affected victim.
4. The Kerala government had compensated every disaster affected victim.
Correct Answer :-

e The Kerala government has compensated every disaster affected victim.

28) Choose the right tag:



They need some new clothes & toys as well, _ ?
1. don’t they

2. do they

3. didn’t they

4. does they

Correct Answer :-

« don’t they

29) Choose the option that substitutes the given phrase appropriately.
Agreed to by everyone

1. Unanimous

2. Anonymous

3. Unify

4. Anon

Correct Answer :-

¢ Unanimous

30) Choose the right tag:

You remember me, ?
1. are you

2. aren't you

3. do you

4. don't you

Correct Answer :-

« don't you

Topic:- General Sanskrit(L2GS)

D quotiicds 7 'y BaA Ff AR e vee-

, FEAAEoH

Correct Answer :-



IS IfScd TeAE T YEHR FIdd -
o @eyel @ T R aReeR g aRurerafd ¥ 1 gE8 T a8 g
et sfa g FHEAA | Feldd § 7 Tﬁmlugoi Hool HgIolH, 3Teled,
UFd dd Tradie ey, ATIAAIIART  faORaAE - aeTE
TSTASHIARYROEAY  HeAUGHR, Usd TA YIedd dql olishraard]
AT | 3TAAT ST AA Yd TSIl Hool: FAAT §ald | GeaddA
U gor T, JAelf: deliedesd geeda” sfd | vd faurd Hgsodta
e faftey, el qEiicasst faget | da: @rershder fAeeel aRafa:
PO IA: | RIS HoT: HEIAAL g'@«ldlmmm TSt gllehed,
3T TS FAUIAH |

TeheT S AMEATANT: HiRA gfdel: Hooled FHAYATSEINH | del
Aol o SeAUTAl Godl, TARIH 3Gk UUTS | od: @ e
ASAAAATE - AT, $oRT AFded g ARG aArerd | Jarfa
TATATY FAATH -T5d1cd>d quIT0l CAATAGATIH | HIoRTold HiFded:
gaist  aferomae N 3fa |deeRud Heen:  WIqald,  fHeeglis:
fa=oraa@t o9 | ddt ggenfaufd ICERTSTATE, Haaealifafar sfiered
JUATCE |

TR ScOEd HEAH Ud foledd-
L R
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Correct Answer :-

L ag
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Correct Answer :-
KDL G
IR fdcar TeaEd YgHR FIad -
o fAegel A T TR 9REIR 9o IRuedfd & | 968 a8
AT sfd g FASIT | FeId § U HASlTst Hool Heldod 3oy,
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TCATEARYRUEAYS  HeIATE, Tsd YA TIedd dal ellehrdrd]
I | 3fAAT del AF Yd TSIl Hool: FAAM §eaTd | GcdA
e AT T, HeTo: deitesesd geetda 5id | vd faurd #gsomta
T iy, siisl qwicasdt faqel | dd: Srershdvr fAeygel aRufd:
FreIael Id: | MCRIeT:Hool: HEIAATT FEANRRATHA ATt glihcd,
3T dcUu TATIATATY |
TeheT SAT:AMEAVAIOT: Hiead gfde: HAood FHIUASENH | daT
Hool: HAloed SeAUTIh acal, dard#d 3&%h Uues | dd: # ode:
ASAAAITT - ‘WA, $oRT AFACT I ARG A | qanf
TJAATT FAAH -Tsarercysa aufol FeaAraieAaad |eoRrolT stedea:
Sl AT 1 R 1T B T A E 2k B Ee I I 0 S M O T U E e D
facora@t g | aqt gInfauld TeauSATES, mﬁaaﬂﬁﬁﬁ o
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G T o sEIEgviTd 7 3fcd 4 ||
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qUIT Bl ATSled JUd Acofed Hedd: |
4 UGAfATaied od Fafed Todd:
qaffig afideer desholted gaper:

A 3§ aiiam fAfgem faei: |

T d e7afd aRal I Jeom faeirer

AART T IR Pselare] @l aRe: ||

‘Joom TaIvoUIfACATES |

, Taerem
Correct Answer :-

IRCHIE

9elleh! afsaar reanfafeseey yeaey ‘gegagcdi o -
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quUIEg helfH<G e gﬂ?:r TG led AT |

7 UhdfATSled 91T $dfed Icd: |
FATHE TRSCT Toaholted ool

T 5% uRarr fAfderey fae: |

T d s7afd qRal I Joom fa=imer
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IR afdcar TeaE T qeHc I -

o [@eyel @1| T TR aReeR g gRuefd €5 | 88 a8
et 3 O FFeEd | Faud @ o9 A e Aeeed e,
SEECIICICIISECE I C i ACTAAICTATE faramAe - “geug
TCTEHAARURUEAY  HeATsd, Tsd YA GAedd dal olishiadra]
I | ITUAT a1l AF Jd ToTellslld Hool: FUAT §oald | GedAT

-~

Ued gl T, HEllel: deitedeed HeAdd” §id | vd faumd #sedd
s 3y, sitel qedicasd faqel | da: @rershdvr f@eel aRgfd:
PG IT: | ARSI Hool: EIAAE gi?ialdlmmm ATl glPed,
3T dc4e TAYITAY |

TeheT S AEATIOT: HiRId gfdel: Hookd HAIATSINA | deT
Hool: G SAUMIH gcdl, dAH 3¢ UUTS | Od: @ oder
TAAAATT - “USK, oieT AFAed o AR drer | qanfa
TUTATT FUAA -T5AecT=a auIoT TraAaGATH |soRoid siterded:
S CAT 1o S P -1 B G E 20 B EC S 5 S M C O U E R
faTorAd §3@ | T4l gganfadld dcEReHRT, mﬁ&aﬁﬁﬁﬁ o e
JYATCGE |

3rg gganfaafa: 3 -



aReee afdcdr Teaed YEHR Faad -
U @eel @1 Tom R aReER 9o 9RuerRfd € | geE a8
et sfa g AR | Felad F oJ: ﬁldlu;j,oi ool HGIeelH 3oy,
qa>d dlel Usdail¥eh ey, ATIAAITAGY fauRamE - uedg
TCTEAARIRUEAY  HeATed, Tsd YA TATdd dal oliehiaara]
I | IUAT dTd AF Jd ToIellsld Hool: FAAT §oald | GedAT
Ued gaT I, HElel: deitedesd H@FAdd” §id | vd faurd #seda
s ey, sitel qwitcasd faqet | da: @rershdAeT faweel aRafd:
hreldQl ITd: | AR > Jg{squchzi gﬁialdlmmm ATt e,
3T dcde TAYIAY |

Tehel ST AEATIOT: HRId gfdel: Hookd HAIATSHINA | deT
H>o: o SeHAUTAhl Godl, TAIIH 364 US| Od: @ de
TAAAATT - “UST, $loied AFded o AR dred | qanfa
TATATT FAATHA -T5ARICT>d INITOT CAATAGATTH |$IoRToleT sitaraed:
ST 1 & P -1 B A E 2k B EC S I 0 S M C U E R R
facoAEr F8g | ddr ggentaafd IHTSTHIRD, Haaealifafust sfierea
JYUATCE |

Gl ﬁ!‘m—omtu g-ar: Holldd -
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URTdE afScar 9o AGHACR JIAd -

AIGACRINee: ST a1 “HglcAT eyfaifen: qeletqdsh: uG: Irag: |
A HgarEeicy: aRaoT THYSRE: HHAdl °§ UAEEd S
EIde>gd  UTod, HAAIEARTE: WRANES: JAadl Ad Ud
clihfa#d: 3Tl T U $IRATT TIAAIT: FEGehy 3ol 3iefac|
AT e IoRId-HISAATS ToRT "UReeel AT T 3787a|
3 AT aTee:, AT T Gellars 3Rfd| Algel: T6iud: aqy 30y
HfeTss: ARG W dre@ca Aasmdt, Tcgsea:, foad, fEn srammes:,
AfgEEE, SEHAFA: T A F&T d&F  Udr  TRcisI
HATIUCHSAIhdle]  dar Al HAlgalsiT  &&@Uar @8 dF 37
Teihle=IR Uq Aredfadanr e aR@aAcdas| OERady grege o:
TACUGTH AT HEIAT AT UM Fodreededed| AN LR,
Tigllelr, Faragen, afdadr T 3Rl fafaumeaedd aRTey ggamsme
T HIgeT: SICIUSCY STHA| A, Id WT:I}?T e W—Hﬁ'ﬂ—%{luuqoﬁoﬂu
ufdardar| o 9fder dd Fawisf o Iedfadr 3reiadl dar giRe#oT
Uo- 3T ST uedl oetdl $IRd UcaT<ad |

TdY e URATEEEey 3 eG: Aleasiatd-
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T3 & I[OTA AT, T dfed I T |
AT T o AEgUsiFd  dfca 4 ||
IERIANAT faeTT ToaheleT eei=l a7 |
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uRede afScar Teated AgHca Faad -

AIGTCIETee: UoCiUar ‘a1q "HelcAT effafa: gHAetqgash: ue: Iiag: |
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T
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L 08

, 06
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4 05

Correct Answer :-

. 05
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Falde>gdd UTod, HAEAGEAATE: WRAES: Jad] Ad U9
MhfaHd: 3eTac| T U $TRATT TIAAINT: TGy 373vil 31e7ac| A
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IATAUCHSIhdle] el AT #Higellsid O #§ dF 3ol
TeTohle-IR Uq Aredfadn e aR@aAcdas| ey aege, o:
TACATHIEARIT HEQIET Al UM Fodeedieded| AN LI,
Tegllel, Jargon, gfdadr o i) faferemeTaedd SRy ygamsme
T HAIGeT: SIeIUSC S| IHAT, Ja H@R’f g W—Hﬁ'ﬂ—%{luuqoﬁoﬂu
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, Twfdaufa
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g



Yol gfScar JefAfisesy ueaed A YA -

quIEy hol[HTEod ‘EIDU?I AT@fed AlAT: |
 UTIhdATGed 9Tg gn—c‘:ﬁ—zr TJcadd: |l

TafAE TRser dedholted gapel:

gA 3§ aikdr fAfders faei: |

T d e7afd aRal Tg Joom faeier
AATT T IR Frsear Al gl ||

HAAT: Teeldl: Telcl Fafoe |

Topic:- Mathematics (MAT)

1) If xy=1 then factorization of x+y+2is: /
T xy=1 7 x+y+2 FTIOA &:

1. (x+1)(y+1)

2. (x+1)(y-1)

3. (x-D(y+1)

4. (x-1(y-1)

Correct Answer :-

o (xt1)(y+l)

2) Match the following:-

i. 1 added to x a) -5q

ii. 8 subtracted from p b)x+1
iii. -5 multiplied by q cp-8/
fFrafafEa o1 firem o%:-

i. x ® 1 SieAT a) -5q

ii. p 9 8 HEFT b)x+1

iii. -5 BT q § M BT cp-8

1.i—b,ii—a,iii—c



2.i—b,ii—c,iii—a
3.i—c¢,ii—a,iii—b
4.i—c,ii—b,iii—a
Correct Answer :-

e i—b,ii—c,iii—a

3) All round development of a child is reflected through ./

TP g9 $T Farfor e ¥ urery |yt g 81
1. Anecdotal record / gaiTd (TTersIee) Siftrera

2. Case study record / SATFRITT LT (FY Wt A

3. Cumulative record / G4 SffeRa

4. Scholastic record / '@T\&ﬁ; 3fera

Correct Answer :-

o Cumulative record /?EFITﬁ e

4) If two cubes each of edge 10 cm are joined end to end, then the surface area of the resulting cuboidis _____ ./
10 It PR a1 &Y v yAw RRY @ 93 €, ot uRomdt oy &1 gt deva R
1. 1500 sq cm /
1500 a7t It
. 1000 sq cm /
1000 7 T

N

w

.500sqcm/
500 & St

BN

. 750 sq cm /
750 aif Qe
Correct Answer :-

e 1000 sqcm/
1000 Ff Jeft

5) What is the number of the diagonals we can draw from one vertex of a polygon with 11 sides? /
11 YIS} a1d TgYS F TH N A 7 e el g w a@d &2

1. 8

2.10

3.9

4.7

Correct Answer :-

6) Which of the following statements is NOT true about whole number? /
FrafafEa & 3 gof Gensit ¥ ddy & F19-91 F3F 9@ T8 32
1. 0 is a counting number but not a natural number. /
0 T TOFT IR TG 3, Qfp e Upd T T 8|
2. The whole number 0 doesn’t have any predecessor. /

o HHT 0 1 IS Gefaell ST el Bieft 81



3. The additive identity of all natural numbers is a whole number. /
Tt U a SeTal Y AN FHReTaT Ueb qul T it |

4. The predecessor of the first two digit number is always a single digit number. /
UGB A 3P BT AT B Yaa T GHRI e ST He B 3

Correct Answer :-

« 0 is a counting number but not a natural number. /

0 T TTUMT TG G&IT B, AfpT Ueb Wi TWRam Te1 B |

7) Which one of the following statements is true about integer? /
FroafafEd & @ S19-91 5y quile & day ¥ ¥ 82
1. On dividing a negative integer by a negative integer we get a negative integer. /

T U YUITeh ) Teb FBUHD QUlTes & TG Al W g8 BUITes quifeh U giell &
2. On subtracting a negative integer from a positive integer we get a positive integer. /

T YD QUITeh I Th BT QUITeh b Ie TR g4 Ut YFTHS JUTidh U il 7|
3. When a positive integer and negative integer is added we get a negative integer. /

TS TP HATHD QU TR UM quifes Y SiIST SITefl & T g5 H0Me QUi U g 3|
4. On multiplying a negative integer with a positive integer we get a positive integer. /

T U QUITh 3 T1Y TH TaTeh QUi 1 0T B TR §H eTeTdh QUi U giam g |
Correct Answer :-

¢ On subtracting a negative integer from a positive integer we get a positive integer. /

TP TS QUi A T TS QUi B He W 88 T YT Ul U B g

8) Which one of the following statements is correct about number? /

Frafifea & § $H-T1 $y= Fen ¥ 6y § 99 2

1. Nine is a prime number. /
A TP AU G

2. There are only 9 prime numbers below 20. /
20 9 R Fad 9 srTeT TEA B

3. Every number is a multiple and factor of itself. /
T GO T 1 T 0T 3R U Bl 8|

4. Number of multiples of a given number are finite. /
@IS e F U 1 T i B 1

Correct Answer :-

o Every number is a multiple and factor of itself. /
Ueieh TS T BT Ueb UTeh SR "eeb B |

9) A train covers a certain distance at a uniform speed. If the train had been 5 km/hr faster it would have taken 1 hour less than the scheduled time. And if
the train had been slower by 20 km/hr, it would have taken 6 hours more than the scheduled time. Then the distance covered by the train is: /

TP ¢ TP GHM °Te A Il g5 U Fiida gff ag ot 81 e 377 5 R/ der ot wra @ wad € oY g8 FMuffa aua @ 1 ver o0 adt @ oiiw afe & 20 Ry ger dieft
Tfa @ Terd & @ Frufiva Taa @ 6 62 aiftrs A B, A T gRT aw F A g B

1. 2240 km /
2240 fopft
2.2000 km /
2000 fopet

3.1050 km/



1050 fopet

4. 1080 km /
1080 fopeit

Correct Answer :-

e 1050 km/
1050 et
10)
In the given figure, if 2 C=40°, then #A and #Bare:
B
A 2

& a1 wfa &, afe 2C=40° &, AW /BE:
50°.90°
100° 40°
40°,100°
90°_30°

4.

Correct Answer :-

40°,100°
1) In a circle centred at “A°, the angle between AB and AD is 80° where points B and D lie on the
circle. If C lies outside the circle and CB and CID are the two tangents , then the value of angle
BCD is el
A &g I T god H, AB vF AD & 1 Fo FI0T 80° §, STEl g B W@ D g W
feug §1 A C gca & swg & fua € dor B 3k ¢ & wwdi@r §. ar 11 BCD
FAA_ B
1100
1.
100°
2.
120°
3.
4. o

Correct Answer :-

100°

12)  A4BCisan isosceles triangle in which 4B = AC. Pis a point inside the AABC such that
APBC( is an equilateral triangle If ~£4 = 30°then find ZABP.

AABC T THEjAaTg TRle © S AB = AC &1 AABCS HeX Th &g P 59 oG &
& APBC wm@ﬁaﬁ%laﬁm=3o=%ﬁ ar 2ABP AT |

450
L B



15°

4.
Correct Answer :-

15°

13) In ADEF £D=60° £F=50° then /
ADEF #, £D=60°,,F=50°a:

1. FE>DF>DE

2. DE=FE=FD

3. DE<DF<EF

4. DE<FE<DF

Correct Answer :-

« DE<FE<DF

14) If the sum of the squares of zeroes of polynomial 6x2% + x + k is E ,then the value of kis_ .

I UG 6x7 +x+k F YIH F @t w AT R A kw AT B

3.2

4.3

Correct Answer :-

)
15) ) . a3 i
Find the value of x* +;whenx e i
@ x—= =28, @ x?+ & AG AT R
1.2
2.8
3.6
4.4

Correct Answer :-

16) Tfthe tangents PA and PB from a point P to a circle with centre O are inclined to each other at an
angle of 80°, then ZPOA=__ .

afg v fg P & v “O” &g arell W ged $T & T Y@ PA g PB whgEy &
80° & o 9X Aerdr §, Y zPOA= |

80°



4.

Correct Answer :-

500
17)
The average temperature of Monday, Tuesday and Wednesday was 40°C. The average
temperature of Tuesday, Wednesday and Thursday was 41°C. If the temperature on Thursday
was 42°C, what was the temperature on Monday?
HIHGR, HIEGR Ud guar &1 3ad argAre 40°C 97| HIdR, §dR Ud &R &l
AT A9ART 41°C T I IFEAR FT ATGA 42°C AT, A WHAR HT AGATA Tehetelt
oar?
41°C
1.
o
5. 38°C
40°C
3.
39°C
4.

Correct Answer :-

39°C

Find £/A + 4D & B+ £C of a cvclic quadrilateral ABCD in which
tA=3x-1,sB=vy2,,C=2y+6& +sD=5x+7./

U TR TG ABCDH LA + /DU £B+2C Ald &,
o £A=3x-1,.B=y2, sC=2y+6Td sD=5x+7 £l

206°, 154°

200°, 160°

2.

521857
3.

168°,192°
4.

Correct Answer :-
206°, 154°

19)  An exterior angle of a triangle is 135° and its two interior opposite
angles are equal. Each of these equal angle is:

wE B &1 9 For 135° § T 56 & 3 §EHE ST
AR 1 51 ¥ U HIT &

47 %0



Correct Answer :-

67 ¥a°
20)
Find the value of x in the given figure.
x
0 50/°\23
B 6
/8 IS HFIF A, x FT AF AT FI
130°
1.
85°
2.
110°
3.
a0°
4.

Correct Answer :-

85°
21) 2 5 2 & 2 =
The property that allows to calculate (EXEJ + (;XE) =3 is f
ar dt @ aer g3 (3x2) +(Ex L) =2 & aorer Fr sl T &

1. Associative property /
Hreed ol

2. Distributive property /
farror gor

3. Closure property /
P T

4. Commutative property /
ERICEERDU]

Correct Answer :-

« Distributive property /
faeor 7or

22)
In AABC, £C = 90°, BC=AC=3y2,then AB= [

AABC #. 2C=90° ,BC=AC=3/2,dTAB=___

1.5
2.7

3.8



4.6

Correct Answer :-

e 6
23) ’ 3 ;
In a quadrilateral ABCD, 2A+ £Cis two times £B+2D_If
£A=140° and ~ D=60° . then £C=7
U TGSt ABCD#, LA +2C, £B + /D & SR 81
g LA =140°3R £ D=60°ar 2C=?
L 60°
100°
2.
80e
3.
1200
4.

Correct Answer :-

100°

Geetha had Rs 600 She spends% of her money on note- books, % of the remainder on

: . 3 : ’ . i
stationary items and 5 of the remainder on cosmetics. How much money is left with her?

T & 9RE 600 F9F A TE AegH W 3TN R F 1 A@T T |/ A9 77 2 3R
WWW?WH%@W%IWWWT@QWW%?

-

. Rs 120/

120 29¢

N

. Rs 200/

200 ®UU

w

.Rs 300/

300 >U¢

N

. Rs 320/
320 >UU
Correct Answer :-

e Rs200/

25) Choose the number not divisible by 11. /
11 ¥ fyvrfora =18 819 arelt e &1 7= F¥ )

1. 1230321

2. 50169306

3.902154

4. 6138165

Correct Answer :-

« 1230321

26) ABCD is a parallelogram and the midpoint of the sides of ABCD are joined to form another parallelogram PQRS. If the area of PQRS is 20 cm?, then the
area of ABCD is. ./



ABcoézasmmagaja%aznABco%amaﬁ%nwﬁgﬁwmmmagﬁa PQRS &1 forafur %<t 81 i PQRS 71 &awrer 20 A2 B, &t ABCD &1 &wdd
I

1. 80 cm? / 80 2

2. 40 cm? / 40 YR

3. 100 cm? / 100 T2

4. 1600 cm?2 / 1600 I
Correct Answer :-

« 40 cm? / 40 YHR

27) Anumeralisthe ./

wEeld @l

1. position of an element in a sequence / U 3{IhH U U dd Pl RUfA

2. symbol to represent a number/@ﬂ@'[%qﬁﬁﬁlaaﬂm

3. cardinality of a set / wﬂg?ccraﬁug@m
4. none of the above /tﬂﬂaﬁﬁﬁaﬁs‘qﬁ

Correct Answer :-

. symbol to represent a number/WQ@T%mWW

28) There are 100 cookies in a packet. If there is ‘m’ packets, then total cookies can be written as: /
% Udbe & 100 TPV &1 A Fbel B W= 'm'’ B, A PPN Bt ot TS S fr@n o T &:
100
m
1.
2. 100m
3.100 + m

4. 100-m

Correct Answer :-

« 100m

29) ‘Gitika’ by Aryabhata is a collection of: /

3rg gRTwgd Mfawr __ S10w e 7

1. Kalakiya — Work on time and measure / HIAfBA-THT G?R HUT R Eb—lﬁ
2. Problems on Arithmetic / 3RO TR FH=T3it

3. Gola (Sphere) /T (ﬁ?{)

4. Astronomical tables / el HT%IWE{

Correct Answer :-

o Astronomical tables / RCUINIBAIINES VQ

30) Micro Teaching technique was brought to India by .

Y&H AT (A3 AT doite, WRd A FlCERI R ]
1. Atkinson / Tefeb g

2.BXK . Passi / 1.3, URA

3. Allen / Taid



4. Anderson / W

Correct Answer :-

e B.K. Passi /é:f% it

31) Unit plan for teaching mathematics is done in the ./

TTfora fRigror & g sP18 e A Y orelt 31
1. post-instructional phase / TRC-SHIGRITHD TN

2. pre-instructional phase / Hi-3FICRITH® TRUT

3. teaching-learning phase / FRI&OT-STATH TROT

4. evaluation phase / F[cdToh=1 TRUT

Correct Answer :-

o pre-instructional phase / Bﬁ-&?ﬁW RO

32) Thorndike's ‘Law of Readiness’ is made use of in the / zﬂw & "dRdT D1 fAga’ &1 U o fomar srdn %I
1. Unit Plan / STS TISTT

2. Lesson Plan /UT‘O"W'T[

3. Home Work / 7§ &1
4. Preparation of objectives / G%{S{q‘rﬁ?rqﬁ
Correct Answer :-
¢ Lesson Plan / TS T
33) 2x+3y=10 has: /
2x+3y=10 BT
1. No solution /
P 54 T 81
2. A unique solution /
T fadv 5w B
3. Only two solutions /
FAAATA S
4. Infinitely many solutions /
HIFEUIFL 5A G
Correct Answer :-
« Infinitely many solutions /
KEGRSER RN ]

34) Mensuration integrated with geometry makes drawing of regular shapes introduced to children in four ways -
1.aesthetic

2. approximation

3.comprehensive

4. association

This is known as /

S & Ty TRfEa aafafa = Frafia snefal & Y a9 o =t & e TR afiel @ wga ge -
1. gofergef

2. Afadped

3. AU



4. ATt

W FEUAAFETSEg]

1. Technique of approximation / Tfadwed & ddb-id

2. Technique of mathematization / TOTIHRT &1 qHIH
3. Technique of quantization /uﬁmvﬁa;—mﬁaaﬁﬂa
4. Technique of ideation / [EEIRUEARGERIC

Correct Answer :-

« Technique of quantization / URATONHRO $T dHid

35) Choose the pair that is not twin prime. /
I G BT TG B Sl VY TS T8 2|
1. (91, 93)

2. (59, 61)

3. (41, 43)

4. (101, 103)

Correct Answer :-

« (91,93)

36) If PQ and RS are two equal and parallel chords, the distance from centre to PQ is 5 cm, then the distance between PQ and RS is: /
g PQ 3R RS & SRTaR 3R qHiaR oial §, F5 A PQ 1 gl 5 4}, A PQ IR RS F A I gt A &:
1. 10cm/
10 S
2.25cm/
25 9t
3.25cm/
2.5 5
4. 5cm/

5 et

Correct Answer :-
e 10cm/
10 3¢t

37) Vedanga jyotisha in astronomy was compiled in 1200BC by )

T g A g sfau dl 1200 ST GE A gRT opfera fvar war um
1. Aryabhatta / GHTAf"-IE'

2. Sulbakar / JesThHR

3. Bandyama / §GIH

4. Lagadha / 94T

Correct Answer :-
« Lagadha / &TT8T

38) The length of the arc of a sector is 22 cm and the area of the sector is 231 sq cm then the angle of the sector is: /

TP WS & 919 B ars 22 A 3R T o1 &wd 231 T AW 8, A @S d1 v @:



90?
4.

Correct Answer :-
600

39) The perimeter of two circles are in the ratio 2:3, then the ratio of their areasis ./
< gl B uRf BT SguTd 2:3 B, &Y 37 &% d BT Ut H|

1.2:3

2.4:9

3.3:2

4.9:4

Correct Answer :-

40) One of the objectives stated below is not measurable and that is: /
MRRTmRE IR TdigsiRag ____ ?

1. To develop critical thinking. / T8 e @t fafad @A & fog

2. To identify their shapes in the nature. /Q?fﬁ[ H 3Tt Gm &Y LREIGE Excka ]%TQ
3. To illustrate equal sets / THTT ‘VTﬂEP:ﬁ &) AR B B %I'Q

4. To recognize rational numbers. / THITT sl i Tgdi AP 1%“1?

Correct Answer :-

« To develop critical thinking. / T8 a1 P o s & 1%111

41) Which of the following is an open-ended question? /

fFrafafaa d 4 o1 T iu1-tSs U9 52

1. Anusha has a total of 50 Rupees. What are the possible denominations she can have? / STTST & Uy P50 U
g1 ST U HIfad Yoot o1 gl Ihd 52

2. Area of a square is 400 cmZ. What are the possible values for the side of the square? /WEITTW ST 400 THI2 %I kel 'J;J,\_rlT%
for Suifaa o= = §

3. Prove that the square of an even numbers is even. / @I@ ﬁﬁ?ww&hwaﬁw@m%
4. State Pythagoras theorem /WWWﬁWI

Correct Answer :-

« Anusha has a total of 50 Rupees. What are the possible denominations she can have? / 3THT & U™ P50 £ 0}

T IUP U GHITAd Hega! o € Febd 82

42) ‘Mathematics is the mirror of civilization’ was stated by: /

IO YT BT SUVT @ I’ ST GIRT gl THT:



1. Newton /
2. Euclid / Jfdas
3. Hogben /Ef\lﬁTa'_'[
4. Plato /@?ﬁ

Correct Answer :-

. Hogben /E'\Iﬁ'laq

43) CANCELLED

Who among the four is not a non-Euclidean? /
IRI & | B TP R-gfrafea 78 82

1. Renaissance / GASTRUT (RAE)

2. Bolyai / SiedT3

3. Lobachevsky / @laioqd!

4. Enclid / TGS

Correct Answer :-

« Enclid / TGS

44) Which one of the following statements is true about power/exponent? /
i@ & A S19-31 $Y= uTd/9die & G4y § T 82
1. In 102, 10 is the power and 2 the exponent /
102 ¥, 10 ©Td 3R 2 ©Tefich 3
2. (5a)° = 5a°
3. 10000 is the exponential form of 10%/
10000, 10* T °TdIH ¥ §
4. 216 is the third power of 6 /
216, 6 BT ARG ¥
Correct Answer :-

e 216 is the third power of 6/

216, 6 PTARRT S

45) CANCELLED

Algebra is al-gebra =al-jebr wa'almuqabala. The translation of equivalent words of aljebr and wa’al muqabala is and , respectively. /
Rsg Algebra, al-gebra =al-jebr wa’almuqabala %I aljebr 3R wa‘al mugabala F qqada Rkl gdlq 3R %I

1. restoration , reduction / 1:TITY, UCTd

2. restoration , challenging / G1:®{TU, _g[:ﬁ?ﬁ

3. restoration , proving / T: ¥4, Rg &

4. balancing, solving / Tge, FHIYUM
Correct Answer :-
« restoration , reduction / Y1:RITY, UCTd

46) CANCELLED

If the mean of “t¥2%3: is 4, then the mean of 204,203,203 is Vi



gfe ¥vXo¥s mmm4%,;ﬁzx1’2x2’2x3 ............. wHE Rl
1.2
2.4
3.8

4.6

Correct Answer :-

47) CANCELLED

If one zero of the quadratic polynomial is x*2+3x+k is 2, then the value of k= ./

Tfe fEaTd 9gUg xA2+3x+k BT TH LIS 2 8, A k BTHM = 1

1, —10

Vio
3. 10

4.5

Correct Answer :-

48) CANCELLED

Which of the following is not under remembering objective? /
fFrafafed % @ o1 Rt favg & s =16t smar @2

1. Measures accurately / YTy AU HAT

2. None of the above /Bﬂﬂaaﬁﬁaﬂ%#r

3. Recall term / TARUNY Teg,

4. Recognizes formula / g gl

Correct Answer :-

. Measures accurately /‘C[?ﬁ?a[ HIUA BT

49) CANCELLED

A, B, C and D are positioned at (12, 2), (16, 4), (18, 8) and (2a, 6). If the points are joined a rectangle ABCD is formed, find D’s position. /
AB,CTED (12,2), (16, 4), (18, 8) Td (2a, 6) W fRya &1 7 fargaif & firemar S ot v smad ABCD o4 W 7, a1 b F1 fRufa yma w31
1. (14, 6)

2. (13, 6)

3.(11, 6)

4. (12, 6)

Correct Answer :-

. (14, 6)

50) CANCELLED

Which of the following formula holds good for zeros of a quadratic polynomial? /
Frafifee & @ oib -9 ffurd 9gue & 37 #) 98 w&iF I uRnfa srar @2

1. Product of zeros = coefficient of x/constant term /



A &1 0= x $T 01D/ 3R UG

2. Product of zeros = Constant term/coefficient of x /
YA FT U= 3R UG/ x B UIiH

3. Sum of zeros = -(Coefficient of xz)/coef‘ﬁcient of x/
[ BT AT=-( %2 BT )/ x FT 0N

4. Sum of zeros = -(Coefficient of x)/coefficient of x2 /
[ 1 A=~ x BT MF)/ %2 F1 015

Correct Answer :-

« Sum of zeros = -(Coefficient of x)/coefficient of X2/
[ 1 GNT=-( x P [UI1eb)/ x2 BT Ulh

51) CANCELLED

Pythagoras established the order called )

TRUNIRE A S 3HiSY 31 wiifia fan

1. Figurative numbers / 3BT T

2. Brotherhood / SIGRg S

3. Pythagoreans / uﬁwﬂw

4. Mathematics / T

Correct Answer :-

o Pythagoreans / WI'S'W'ﬁW

52) CANCELLED

Choose the correct statement about integers. /

quite! & fwa & T Y= &1 9aq B3|

1. Subtraction is commutative for integers /
Herg quiies & fere fafdasta gar &1

2. Addition is associative for all integers /
T gt quifet & fore Tgarf g 2

3. Division is associative for all integers except 0/
fauTSH 0 @1 Sree) I quifest 3 forg are=d a8

4. Whole number are closed under addition & subtraction /
qof e T iR er 3 afaia g A 2

Correct Answer :-

« Addition is associative for all integers /

g et quifept 3 forg weanht g 3|
53) CANCELLED
What will be the sign of the product if we multiply together:
1. 9 negative integers and 4 positive integers
2. 5 negative integers and 5 positive integers
3. 4 negative integers and 7 positive integers
4. 8 negative integers and 5 positive integers

5. (-3), 2n times, n is a natural number. /



a2 £ £ T 3 QU R & A o 3 fir r E:
1. 9 BUNHS YU 3R 4 YATHS QUi
2.5 BUTHS YUl 3R 5 YATHS YuIich
3. 4 BUTHS QUITH 3R 7 YATHS QIS
4. 8 BUTHS YUITH 3R 5 Y-THD UITH
(-3), 2n SR, n TF UIpd HET 7
1. i - positive, ii — negative, iii — negative, iv — positive, v —negative /
| — YT, ii — BUTHD, il — BUTHD, iv — UTHD, v — BUTHS
2. i — positive, ii — negative, iii — negative, iv — positive, v — positive /
| — YT, ii — BUTHD, il — BUTHD, v — YTHD, v — YTHS

3. i — negative, ii — negative, iii — positive, iv — positive, v —positive /

i — BUMHD, i — BUTED, i — YTHD, iv — YATHD, v — YD

4. i — negative, ii — negative, iii — negative, iv — positive, v —positive /

i = BUTHD, ii — BUTHD, iii — BUTHD, iv — YIIHD, v — YITHD

Correct Answer :-

« i—negative, ii — negative, iii — positive, iv — positive, v —positive /

i — SBUIEHD, i — BUTHD, iii — YAIHD, iv — YD, v — YITHD
54) CANCELLED
Which of the following is the multiplicative identity in the set of whole numbers? /
fFafafaa & 3 s19-a1 gl Temnsit & Ty | Tuners TaeudT 82
1.1

2. All whole numbers /

it gof Ty
3.0
4. -1

Correct Answer :-

55) CANCELLED
When N is a set of all natural numbers, W the set of all whole numbers, Z the set of all real numbers, then which of the following is true?/

Tfe N @t urpa wemai &1 v Ty=y 8, w Tt quife! &1 W €, z 9 arafae Tensit &1 ag=y g, d At # @ e9-a w82

. RcZcWcN

WcNcRcZ
2.

NcZcWckR
3.

NcWcZcR
4.
Correct Answer :-

NcWcZcR

56) CANCELLED
Find the sum of perimeters of an equilateral triangle and a regular pentagon whose both side is 4 cm. /

T aueTg Y R v Hafia vays « aRR o1 9 319 &%, Rt g Yot 4 3§



1.32cm/

32 3t
2.252 cm/

252 It
3.36cm/

36 S
4.62cm/

62 It
Correct Answer :-

« 32cm/

32 9o

57) CANCELLED
Find the perimeter of the triangle whose sides are 4 meter, 5 meter and 60 cm. /
1y o1 uikaTy 3 o, SRrat Y=g 4 wiex, 5 Hew 3w 60 A 7
1. 69 meter /
69 HicR
2. 9.6 meter /
9.6 Hiex
3. 3600 meter /
3600 Hicx
4. 6.9 meter /
6.9 Hicx
Correct Answer :-

e 9.6 meter/

9.6 e

58) CANCELLED

In a right angled triangle the square of the hypotenuse is twice the product of the other two sides. Find one of the angles of the triangle. /

T TaHIv AYys & wuf 1 aif oo S Ywirait F U BT ST 21 Y F Fon A A T 3 HR

59) Express 15625 as a power of 5. / 5 % °Td ¥ § 15625 &I Had H1 |
1.4°
2.58

3.5°



4.6°

Correct Answer :-

. 58

60) A(3,5) and B(-3,5) are the end points of the diameter of a circle. Find the centre of the circle. /
A(3,5) U4 B(-3,5) U < & oA & $ifaw faig &1 g1 &1 Hg yrd B |

1. (5,0)

2. (6,5)

3. (3,0)

4. (0,5)

Correct Answer :-



